Efficiency vs P,

T
=
N

eficiency vs p

0.2

107 1 10 4'BZpT (Ge\})o3

Ratio

fake+duplicates vs P,
~ 0.8

o : :
%) : :
4 : :
Q : :
] : :
n : :
Q : :
5] : :
) : :
=3 : : 4
3 : : +
¥ [0 e R [ bbb T
Q : :
X . . -+ 4
B 0Bt B -t
0.2 g eeiereeeees b ]
Wt : 4
0.=--------% e Breneeeeet
o i P .:.,s‘#+*
G-- TR | 1 .....:I' L L
o F : :
IS F g
o

[y

0.9

o
=
OCO

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPE_step2_ttbar-phasel-newgeom

—— DQM_pixel CPEANdChi2_step2_ttbar-phasel-newgeom

N
|

o
o]
T 7
s

efficiency vs n

©
2}
T

................................................

©
»
|

©
N
T

——.

=3 -2 -1 0 1 2 3
TP n

Ratio

Efficiency vs ¢
e TR R S SR SR S

g .:’. - ‘_M..:"I-”...."."‘.._f‘-."‘*:'

efficiency vs @

) S e -

S s s

Ratio

R L

3 2 -1 0 1 2 3
TP @

= 0.2

\'
©
=
o]

T

C
TTT T[T TTr[]

AR

track @



	Contents
	Page 1


